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Guess Paper – 2008
Class – X
Subject – Mathematics

                                                                                                                                       By A.Rameshwar Reddy
                                                                                                                                               +919440266338
Time : 3 hours                                                                                    Max Marks : 80
General Instructions:
       01.
All questions are compulsory.
02. The question  paper consists of 30 questions divided  into four sections –  A, B, C  and  D. Section  A  contains  10  questions of  1  mark  each, Section  B  is of  5   questions of  2 marks  each, Section  C  is of 10 questions of 3 marks each  and  section  D is  of  5 questions of 6 marks each. 
       03. There is no overall choice. However, an internal choice has been provided in one question of two marks, three questions of three marks each and two questions of six marks each.
       04. In question   on construction, the drawing should be neat and exactly as per the given measurements
       05. Use of calculator is not permitted.
SECTION – A (1 x 10 = 10 marks)
01. Two numbers are in the ratio of 15 : 11, if their HCF is 13, find the numbers?
02. In the following system of equations determine whether it has unique, no or many solutions. If unique solution find it?   
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03. Solve for x and y  
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04. Find k if the equation 
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has equal roots.

05. Express the trigonometric ratios 
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06. In the fig-1, PXY and PAB are lines, PXY passes through the centers of circles, show that   PA :  PB =  PX : PY  
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07. It the given fig-2, if ( ABE ( ( ACD, prove that   ( ADE ( ( ABC.           


                                                                    A
                                                          D                     E 
                             Fig- 2
                                                     B                                       C     
08. A cone and a hemisphere have equal bases and equal volumes. Find the ratio of their heights.
09. Three coins are tossed. Find the probability of getting
a) Exactly two heads          b) At least two heads 
10. 
The sales in rupees of a particular shop from Sunday to Saturday is given bellow find the mean sales? 
              310, 420, 380, 370, 215, 430, 270
SECTION – B (2  x  5 = 10 marks)

011. Find the common difference of an A.P. whose first term is 100 and sum of whose first 6 terms is five times the sum of next 6 terms.
012. If  
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013. In fig-3, O and O1 are the centers of circles and PAB is a common tangent.  show that  r2/ r1 = PA/ PB 
                                                                                                                B                
                                                                                                                                    A                  
                                                                                                                 r1                r2                     P
                                                                     fig - 3                               O                 O1
014. The length of a line segment is 10. If one end is at (2, –3) and the abscissa of the second end is 10, show that it’s ordinate is either 3 or –9.
015. Two dice are thrown simultaneously. Find the probability of getting                  (i ) an even number as the sum     (ii) a total of at least 10.

OR
Cards are marked with the numbers 2 to 101 are placed in a box and mixed thoroughly. One card is drawn at random from this box. Find the probability that the number on the card is 

( i ) an even number     ( ii ) a number which is a perfect square.

SECTION – C (3 x 10 = 30 marks)

016. The traffic lights at three different road crossings change after every 48 sec, 72 sec and 108 sec respectively. If they all changes simultaneously at 8:20:00 hours at what time will they again change simultaneously?
OR
          A circular field whose circumference 360 km. three men by bicycles revolving around it with 48, 60 and 72 km per day respectively, if they are starting on same day from same place after how many days the meet at the starting point?    
017. If the roots of the bellow equation are equal   
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, prove that 
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018. Solve the following using cross multiplication method
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019. A thief run away with the speed of 100 meters per minute, after one minute the police man run behind the thief to catch the thief, initially at a speed of 100 meters per minute in order to catch the thief the police man accelerate his speed 10 meters per minute and finally caught the thief. In how many minutes after the start of the police man caught the thief. 
020. Prove the identity:
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                                                                          OR
          without using tables, evaluate:
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021. Prove that any straight line drawn parallel to the base BC of a ∆ ABC, which intersect the sides AB and AC, is bisected by the median which is drawn from vertex ‘A’.
022. Construct a Triangle ABC in which AB = 2.5 cm , BC = 3.5 cm , AC = 4.2 cm, construct another triangle  AB’C’ similar to ∆ ABC with AC ’ = 6.3 cm.
023. A(–2, 5), B(3, 2) are two points on AC such that AC = 3BC find the coordinates of ‘C’
024. If the points A(1, 0) , B(a, 3) , C(2, b) and D( -2, 4) are the vertices of a parallelogram, find the values of a and b.
025. Spherical marbles of diameter 1.4 cm are dropped into a cylindrical beaker, of diameter 7 cm, containing some water. Find the number of marbles that should be dropped into the beaker so that the water level rises by 5.6 cm.
OR

Three horses tethered with the 7 meter rope each to three corners of triangular field ABC, in which AB = 14m, BC = 21m and AC = 28m. Find the area which horses can not graze? 
SECTION – D (6  x  5 = 30 marks)

026. 8men and 12 boys can finish the piece of work in 10 days, while 6 men and 8 boys can finish the same work in 14 days. Find the time required to finish a man alone and a boy alone.
                                                                            OR

            A plane left 30 minutes late than the scheduled time and in order to reach the destination 1500 km away in time, it has to increase the speed by 250 km/hr from the usual speed. Find the usual time

027. The angle of elevation of cloud from a point 200 m above the lake is 300 and the angle of depression of the reflection of cloud in the lake is 600.Find the height of cloud.

                                                                          OR
          A vertical tower is surmounted by a flagstaff of height h meters. At a point on the ground, the angles of elevation of the bottom and top of the flagstaff are α and β respectively. Prove that the height of lower is 
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028. Prove that if in a triangle the square of one side is equal to the sum of squares of other two sides then the angle opposite to first side is a right angle.
             Using this prove ∆ ABC is an isosceles triangle with AC = BC. If AB2 = 2AC2, prove that ABC is right triangle.
029. A container made up of a metal sheet in the form of a frustum of a cone height 16 cm with radii of its lower and upper is 8 cm and 20cm respectively.   Find the cost milk which can completely fill the container at Rs.15 per liter and cost of metal sheet used if it cost Rs.5 per 100 cm2.   

030. The frequency distribution of the weight of 100 persons is given below. Find the median. 
	Weight (kg)
	60-64
	65-69
	70-74
	75-79
	80-84
	85-89

	Persons 
	13
	28
	35
	12
	9
	3
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